

Vendor Ranking							Page 1 of 1
Letting:	05210202	February 02, 2021 2:00 PM	Call Order	: 004	Contract:	E5V44	
District:	District 5		Counties:	BREVARD, DIST/ST-WIDE	E Fed Aid No:	: N/A	
Contract Time:	100 CALENI	DAR DAYS			Project(s):	44400117202 (*)
Contract Desc:	Drainage Re	epair					

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	WRANGLER CONSTRUCTION INC.	Responsive	Winning bid	\$399,889.93	100.00%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



02/12/2021

Tabulation of Bids							
Letting:	05210202	February 02, 2021	Call Order:	004	Contract: E5V44		
District:	District 5		Counties:	BREVARD, DIST/ST-	Fed Aid No: N/A		
Contract Time: 100 CALENDAR DAYS				WIDE	Project(s): 44400117202 (*)		
Contract Desc FDOT District 5 Proposal No: E5 Financial Project Fiscal Year: 202 Counties: Breval Calendar Days: Lead Time: 60 D	V44 t No: 444001-1-7 1 rd 100						

This is a Maintenance Pay Item Contract.

Intent: The work under this contract consists of inlet top repair & replacement, inlet grate repair & replacement, & pipe replacement at various locations throughout Brevard County.

Experience: For this Contract the Contractor is required to have at least three (3) years of experience in the performance of drainage repair, or the Project Superintendent must have at least three (3) years of like experience as a Superintendent. A Contractor that presently has a certificate of prequalification with the Department in "Drainage" will suffice to meet the above requirements.

Line No / Item ID Alternate Item Description	Quantity Units	(1) WRAI CONSTRUC					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (R	REPAIR/REPL	ACE STRM-SIDE-	CROSS DRAIN(L	.F			
0005 0101 1 MOBILIZATION	(1.000) LS	97,900.00000	97,900.00				
0010 0102 1 MAINTENANCE OF TRAFFIC	(1.000) DA (LS)	6,250.00000	6,250.00				
0015 0110 1 1 CLEARING & GRUBBING	(1.000) AC (LS)	12,000.00000	12,000.00				
0020 0110 4 10 REMOVAL OF EXISTING CONCRETE	83.390 SY	11.50000	958.99				



Tabulation of Bids

Page 2 of 4

Letting: 05210202	February 02, 20	21 Ca l	l Order: 004		Contract:	E5V44	
Line No / Item ID Alternate	e Quantity Units	(1) WRA CONSTRUC					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(REPAIR/REPLA	ACE STRM-SIDE-	CROSS DRAIN(L	F			
0025 0285702 OPTIONAL BASE, BASE GROUP 02	122.330 SY	44.00000	5,382.52				
0030 0334 1 12 SUPERPAVE ASPHALTIC CONC, TRAFFIC B	8.440 TN	250.00000	2,110.00				
0035 0425 15 41 INLET TOP, REPAIR, CURB INLET	15.000 EA	4,000.00000	60,000.00				
0040 0425 15 51 INLET TOP, REPLACE, CURB INLE	28.000 T EA	3,200.00000	89,600.00				
0045 0425 74 1 MANHOLES & INLETS CLEANING & SEALING, <10'	2.000 & EA	1,375.00000	2,750.00				
0050 0425 82 REPLACE GRATE	3.000 EA	1,875.00000	5,625.00				
0055 0430175118 PIPE CULVERT,OPTIONAL MATERIAL,ROUND, 18"S/CD	155.000 LF	156.00000	24,180.00				
0060 0430175124 PIPE CULVERT,OPTIONAL MATERIAL,ROUND, 24"S/CD	31.000 LF	163.00000	5,053.00				
0065 0430984129 MITERED END SECTION, OPTIONA ROUND, 24" SD	2.000 AL EA	1,824.00000	3,648.00				



Tabulation of Bids

Page 3 of 4

Letting: 05210202	February 02, 20	021 Ca l	l Order: 004		Contract:	E5V44	
Line No / Item ID Alternate	e Quantity Units	(1) WRA CONSTRUC					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(REPAIR/REPL	ACE STRM-SIDE-	CROSS DRAIN(L	F			
0070 0522 1 CONCRETE SIDEWALK AND DRIVEWAYS, 4" THICK	111.170 SY	51.75000	5,753.05				
0075 0522 2 CONCRETE SIDEWALK AND DRIVEWAYS, 6" THICK	16.670 SY	74.00000	1,233.58				
0080 0570 1 2 PERFORMANCE TURF, SOD	77.110 SY	6.30000	485.79				
0085 0711 11123 THERMOPLASTIC, STANDARD, WH SOLID, 12" FOR CROSSWALK AND ROUNDABOUT		13.00000	2,340.00				
0090 E425 73 3 FRAME AND GRATE (F&I)	41.000 EA	1,820.00000	74,620.00				
0001 REPAIR/REPLACE STRM- S SIDE-CROSS DRAIN(LF)	Section Totals:		\$399,889.93				

Contract Grand Totals:

\$399,889.93



Page 4 of 4

Letting:	05210202	February 02, 2021	Call Order: 004	Contract:	E5V44
		120.57(3), Florida	ile a protest within the time prescribed in Statutes, or failure to post the bond or ot thin the time allowed for filing a bond sha	her security	

a waiver of proceedings under chapter 120, Florida Statutes.